Chapter 14 STATA Output
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In STATA, do have odds ratio output, you must enter “or” after a comma and at the end of the command line:
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image7.emf
Note: _cons estimates baseline odds.

                                                                              

       _cons     3.154506   1.149397     3.15   0.002     1.544478    6.442892

     liberal     2.714942   .5066861     5.35   0.000     1.883223    3.913985

conservative     .5432354   .0914659    -3.62   0.000     .3905432    .7556262

         sex     .7489646   .1080724    -2.00   0.045     .5644643    .9937704

       white     1.497802   .2514507     2.41   0.016     1.077841    2.081392

    higheduc     .8488042   .1305511    -1.07   0.287     .6278959    1.147433

   lowincome     1.464157   .2460523     2.27   0.023     1.053278    2.035319

         age     .9803232   .0053252    -3.66   0.000     .9699414    .9908162

                                                                              

       grass   Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -568.09089                     Pseudo R2         =     0.0849

                                                Prob > chi2       =     0.0000

                                                LR chi2(7)        =     105.40

Logistic regression                             Number of obs     =        924

Iteration 4:   log likelihood = -568.09089  

Iteration 3:   log likelihood = -568.09089  

Iteration 2:   log likelihood = -568.09096  

Iteration 1:   log likelihood = -568.54366  

Iteration 0:   log likelihood = -620.79332  

. logit grass age lowincome higheduc white sex conservative liberal, or


image8.emf
      Total        2,379      100.00

                                                

   in favor        1,530       64.31      100.00

    opposed          849       35.69       35.69

                                                

     MURDER        Freq.     Percent        Cum.

PENALTY FOR  

      DEATH  

     OPPOSE  

   FAVOR OR  

. tabulate cappun


image9.emf
                                                                              

       _cons     .1316338   .2783156     0.47   0.636    -.4138547    .6771224

       white     .7881748   .1270152     6.21   0.000     .5392295     1.03712

         sex    -.2689753   .1140763    -2.36   0.018    -.4925609   -.0453898

   lowincome     .2323157   .1298414     1.79   0.074    -.0221688    .4868001

    higheduc    -.4983703   .1196646    -4.16   0.000    -.7329086    -.263832

         age     .0076521   .0042281     1.81   0.070    -.0006348    .0159389

                                                                              

      cappun        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -903.77957                     Pseudo R2         =     0.0386

                                                Prob > chi2       =     0.0000

                                                LR chi2(5)        =      72.59

Logistic regression                             Number of obs     =      1,448

Iteration 3:   log likelihood = -903.77957  

Iteration 2:   log likelihood = -903.77958  

Iteration 1:   log likelihood =  -903.9385  

Iteration 0:   log likelihood = -940.07596  

. logit cappun age higheduc lowincome sex white


image10.emf
Note: _cons estimates baseline odds.

                                                                              

       _cons     1.140691    .317472     0.47   0.636      .661097    1.968206

       white     2.199378   .2793545     6.21   0.000     1.714685    2.821081

         sex     .7641621   .0871728    -2.36   0.018     .6110595    .9556249

   lowincome     1.261518   .1637972     1.79   0.074     .9780751    1.627101

    higheduc     .6075199   .0726986    -4.16   0.000     .4805093    .7681026

         age     1.007681   .0042605     1.81   0.070     .9993654    1.016067

                                                                              

      cappun   Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -903.77957                     Pseudo R2         =     0.0386

                                                Prob > chi2       =     0.0000

                                                LR chi2(5)        =      72.59

Logistic regression                             Number of obs     =      1,448

Iteration 3:   log likelihood = -903.77957  

Iteration 2:   log likelihood = -903.77958  

Iteration 1:   log likelihood =  -903.9385  

Iteration 0:   log likelihood = -940.07596  

. logit cappun age higheduc lowincome sex white, or


image11.emf
                                                                              

       _cons     .2654165   .3224892     0.82   0.410    -.3666507    .8974838

   notenough     .7567933   .1496366     5.06   0.000     .4635109    1.050076

    Tooharsh      -.63852   .1931254    -3.31   0.001    -1.017039   -.2600012

       white     .7314971   .1370729     5.34   0.000     .4628391    1.000155

         sex    -.4521238   .1247173    -3.63   0.000    -.6965653   -.2076823

   lowincome     .1960705   .1411007     1.39   0.165    -.0804818    .4726227

    higheduc    -.4005178   .1299047    -3.08   0.002    -.6551262   -.1459093

         age     .0043592   .0045913     0.95   0.342    -.0046397    .0133581

                                                                              

      cappun        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood =  -789.6062                     Pseudo R2         =     0.0863

                                                Prob > chi2       =     0.0000

                                                LR chi2(7)        =     149.25

Logistic regression                             Number of obs     =      1,341

Iteration 4:   log likelihood =  -789.6062  

Iteration 3:   log likelihood =  -789.6062  

Iteration 2:   log likelihood = -789.60666  

Iteration 1:   log likelihood = -790.30422  

Iteration 0:   log likelihood = -864.22882  

. logit cappun age higheduc lowincome sex white Tooharsh notenough


image12.emf
Note: _cons estimates baseline odds.

                                                                              

       _cons     1.303974   .4205175     0.82   0.410     .6930517    2.453422

   notenough      2.13143     .31894     5.06   0.000     1.589645    2.857867

    Tooharsh     .5280734   .1019844    -3.31   0.001     .3616643    .7710506

       white      2.07819   .2848635     5.34   0.000     1.588578    2.718703

         sex     .6362754   .0793546    -3.63   0.000     .4982938    .8124651

   lowincome     1.216613   .1716649     1.39   0.165     .9226717    1.604196

    higheduc     .6699731   .0870326    -3.08   0.002     .5193765    .8642361

         age     1.004369   .0046114     0.95   0.342     .9953711    1.013448

                                                                              

      cappun   Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood =  -789.6062                     Pseudo R2         =     0.0863

                                                Prob > chi2       =     0.0000

                                                LR chi2(7)        =     149.25

Logistic regression                             Number of obs     =      1,341

Iteration 4:   log likelihood =  -789.6062  

Iteration 3:   log likelihood =  -789.6062  

Iteration 2:   log likelihood = -789.60666  

Iteration 1:   log likelihood = -790.30422  

Iteration 0:   log likelihood = -864.22882  

. logit cappun age higheduc lowincome sex white Tooharsh notenough, or


image13.emf
                  Total        1,568      100.00

                                                            

              always ok          105        6.70      100.00

sometimes not ok to hit        1,463       93.30       93.30

                                                            

              a citizen        Freq.     Percent        Cum.

is ok for police to hit  

 a respondent thinks it  

binary indicator for if  

. tabulate polhitbin


image14.emf
                                                                              

       _cons    -2.578031   .7033432    -3.67   0.000    -3.956558   -1.199503

         age     .0076624   .0098393     0.78   0.436    -.0116223     .026947

    higheduc    -.5033194   .3277636    -1.54   0.125    -1.145724    .1390855

   lowincome    -.7349887   .2988336    -2.46   0.014    -1.320692   -.1492856

       white     1.011503   .4175477     2.42   0.015      .193125    1.829882

         sex    -.4883754   .2859255    -1.71   0.088    -1.048779    .0720284

                                                                              

   polhitbin        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -206.63448                     Pseudo R2         =     0.0439

                                                Prob > chi2       =     0.0020

                                                LR chi2(5)        =      18.96

Logistic regression                             Number of obs     =        958

Iteration 4:   log likelihood = -206.63448  

Iteration 3:   log likelihood = -206.63448  

Iteration 2:   log likelihood = -206.63621  

Iteration 1:   log likelihood = -207.37775  

Iteration 0:   log likelihood = -216.11201  

. logit polhitbin sex white lowincome higheduc age


image15.emf
Note: _cons estimates baseline odds.

                                                                              

       _cons     .0759234   .0534002    -3.67   0.000     .0191288    .3013438

         age     1.007692    .009915     0.78   0.436      .988445    1.027313

    higheduc     .6045207   .1981399    -1.54   0.125     .3179935    1.149222

   lowincome     .4795109    .143294    -2.46   0.014     .2669506    .8613231

       white     2.749732   1.148144     2.42   0.015     1.213034     6.23315

         sex     .6136225   .1754503    -1.71   0.088     .3503652    1.074686

                                                                              

   polhitbin   Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -206.63448                     Pseudo R2         =     0.0439

                                                Prob > chi2       =     0.0020

                                                LR chi2(5)        =      18.96

Logistic regression                             Number of obs     =        958

Iteration 4:   log likelihood = -206.63448  

Iteration 3:   log likelihood = -206.63448  

Iteration 2:   log likelihood = -206.63621  

Iteration 1:   log likelihood = -207.37775  

Iteration 0:   log likelihood = -216.11201  

. logit polhitbin sex white lowincome higheduc age, or


image1.emf
      Total        1,574      100.00

                                                

      LEGAL          870       55.27      100.00

  NOT LEGAL          704       44.73       44.73

                                                

      LEGAL        Freq.     Percent        Cum.

    BE MADE  

  MARIJUANA  

     SHOULD  

. tabulate grass


image2.emf
                                                                              

       _cons     1.226898   .1565632     7.84   0.000       .92004    1.533757

         age    -.0205218   .0029751    -6.90   0.000    -.0263529   -.0146906

                                                                              

       grass        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -1057.6712                     Pseudo R2         =     0.0227

                                                Prob > chi2       =     0.0000

                                                LR chi2(1)        =      49.15

Logistic regression                             Number of obs     =      1,574

Iteration 3:   log likelihood = -1057.6712  

Iteration 2:   log likelihood = -1057.6712  

Iteration 1:   log likelihood = -1057.6853  

Iteration 0:   log likelihood = -1082.2439  

. logit grass age


image3.emf
Note: _cons estimates baseline odds.

                                                                              

       _cons     3.410634   .5339799     7.84   0.000     2.509391    4.635558

         age     .9796874   .0029147    -6.90   0.000     .9739913    .9854168

                                                                              

       grass   Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -1057.6712                     Pseudo R2         =     0.0227

                                                Prob > chi2       =     0.0000

                                                LR chi2(1)        =      49.15

Logistic regression                             Number of obs     =      1,574

Iteration 3:   log likelihood = -1057.6712  

Iteration 2:   log likelihood = -1057.6712  

Iteration 1:   log likelihood = -1057.6853  

Iteration 0:   log likelihood = -1082.2439  

. logit grass age, or


image4.emf
                                                                              

       _cons     1.398056   .3363701     4.16   0.000     .7387829    2.057329

         sex    -.2938225   .1355084    -2.17   0.030    -.5594141    -.028231

       white     .2995251   .1551566     1.93   0.054    -.0045762    .6036263

    higheduc     .0090255   .1434263     0.06   0.950    -.2720848    .2901359

   lowincome     .3211276   .1563189     2.05   0.040     .0147482    .6275069

         age    -.0226404   .0050589    -4.48   0.000    -.0325557   -.0127251

                                                                              

       grass        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -627.64369                     Pseudo R2         =     0.0241

                                                Prob > chi2       =     0.0000

                                                LR chi2(5)        =      30.97

Logistic regression                             Number of obs     =        955

Iteration 3:   log likelihood = -627.64369  

Iteration 2:   log likelihood = -627.64369  

Iteration 1:   log likelihood = -627.66554  

Iteration 0:   log likelihood = -643.12943  

. logit grass age lowincome higheduc white sex


image5.emf
Note: _cons estimates baseline odds.

                                                                              

       _cons     4.047325   1.361399     4.16   0.000     2.093386    7.825043

         sex     .7454088   .1010091    -2.17   0.030     .5715438    .9721638

       white     1.349218     .20934     1.93   0.054     .9954342    1.828738

    higheduc     1.009066   .1447266     0.06   0.950     .7617897    1.336609

   lowincome     1.378681   .2155139     2.05   0.040     1.014858    1.872935

         age      .977614   .0049457    -4.48   0.000     .9679685    .9873556

                                                                              

       grass   Odds Ratio   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -627.64369                     Pseudo R2         =     0.0241

                                                Prob > chi2       =     0.0000

                                                LR chi2(5)        =      30.97

Logistic regression                             Number of obs     =        955

Iteration 3:   log likelihood = -627.64369  

Iteration 2:   log likelihood = -627.64369  

Iteration 1:   log likelihood = -627.66554  

Iteration 0:   log likelihood = -643.12943  

. logit grass age lowincome higheduc white sex, or


image6.emf
                                                                              

       _cons     1.148832   .3643667     3.15   0.002     .4346862    1.862978

     liberal     .9987705   .1866287     5.35   0.000     .6329849    1.364556

conservative    -.6102126   .1683725    -3.62   0.000    -.9402166   -.2802085

         sex    -.2890636   .1442958    -2.00   0.045    -.5718781   -.0062491

       white     .4039984   .1678798     2.41   0.016     .0749599    .7330368

    higheduc    -.1639268   .1538059    -1.07   0.287    -.4653809    .1375273

   lowincome     .3812796   .1680505     2.27   0.023     .0519067    .7106525

         age    -.0198729   .0054321    -3.66   0.000    -.0305197   -.0092262

                                                                              

       grass        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

Log likelihood = -568.09089                     Pseudo R2         =     0.0849

                                                Prob > chi2       =     0.0000

                                                LR chi2(7)        =     105.40

Logistic regression                             Number of obs     =        924

Iteration 4:   log likelihood = -568.09089  

Iteration 3:   log likelihood = -568.09089  

Iteration 2:   log likelihood = -568.09096  

Iteration 1:   log likelihood = -568.54366  

Iteration 0:   log likelihood = -620.79332  

. logit grass age lowincome higheduc white sex conservative liberal


